Advanced Algebra






Name:  _____________________________

2.4 Linear Applications





Period:  _________

For problems 1 – 7, write the linear model and predict what is needed.
1.  The cost of producing 4 units is $204.80.  The cost of producing 8 units is $209.60.  Write a linear model.  How much does it cost to produce 12 units?



Two Points  _________________________
Slope  __________________________

Linear Model  _________________________

Cost   ________________________

2.  There were 174 words typed in 3 minutes.  There were 348 words typed in 6 minutes.  Write a linear model.  How many words will be typed in 8 minutes?





Two Points  _________________________
Slope  __________________________
Linear Model  _________________________

Words typed ________________________

3.  The school marching band is going to march in the Rose Bowl Parade.  They need to raise $3400 per person to fund the trip.  Each person is going to sell pies for $8 each and pizzas for $12 each.  Write an equation to model the situation.  How many pies must be sold, if 140 pizzas were sold.

Linear Model  ___________________________
Number of pies _________________________

4.  After 5 months the number of subscribers to a newspaper was 5730.  After 7 months the number of subscribers to a newspaper was 6022.  Write a linear model.  How many subscribers to the newspaper will there be after 10 months?

Two Points  _________________________
Slope  __________________________

Linear Model  _________________________

Number of Subsribers  ________________________

5.  A taxi ride has a flat fee of $2.25 plus $.80 per mile.  Write an equation to represent the total taxi ride.  Find the total bill if 13 miles were driven to get to your destination.


Two Points  _________________________
Slope  __________________________

Linear Model  _________________________

Total Bill  ________________________

6.  There are 2 leaves along 3 in of an ivy vine.  There are 14 leaves along 15 in of the same vine.  Write a linear model.  How many leaves are there along 6 in of the vine?

Two Points  _________________________
Slope  __________________________

Linear Model  _________________________

Total Bill  ________________________

7.  You need to book a hotel room for a convention you are to attend in Chicago.  The hotel tells you it charges $300 for lodging fees.  In addition to the lodging fees, it is $125 per night.  Write an equation to represent the total hotel bill.  Find the total hotel bill if you are going to stay five nights.

Linear Model  ___________________________

Total Bill   _________________________

